60

FIBERLIGN

SLACKLOOP® ADJUSTABLE CABLE STORAGE

The SLACKLOOP Adjustable Cable Storage neatly stores slack OPGW cable on wood poles, concrete poles, and lattice
towers while maintaining the appropriate cable bend radius. The Adjustable SLACKLOOP System consists of independent
crossarms and spools that can be placed any distance away from each other on the structure to adjust for the desired
storage length. Cable straps (not provided) can be used to neatly group cable loops and secure the cable to spools

or keepers, if desired.

FEATURES AND BENEFITS

¢ Various configurations can be created with standard crossarm and spool kits

¢ Short and long crossarm options are available

¢ Long crossarms allow spools to be attached at various positions at each end of the crossarm
¢ Mounting options available to accommodate most structures

¢ Accommodates cable manufacturer-suggested storage diameters

e Storage spools provide a soft, smooth surface to support and protect cable

« Steel components are galvanized or zinc plated to prevent corrosion

e Can be used with the COYOTE® Defender for ballistic protection

e Short crossarm: 2 ft loop creates 130 ft storage

¢ Long crossarm: 5 ft loop creates 300 ft storage

PLP.COM CO-CA-1024-3



SLACKLOOP® Adjustable Cable Storage [N >J l » =3

ORDERING INFORMATION

Select the appropriate SLACKLOOP Adjustable Cable Storage kit(s) based on the configurations shown at the
bottom of the page.

SLACKLOOP Adjustable Cable Storage ;>:
. -
Catalog Num- Product Description m
ber 5.
; bl
8003503 Adjustable Cable Includes (1) Cable Storage Spool @ >
Storage Spool ﬁ
Includes (1) Cable Storage Spool, (1) Banding Bracket, b :
800350381 | 2P\® S1oragde BP9 | (1) 5/g"11 x 6 Bolt (1) 5/8"11 Nut, (1) 5/8" Lock . o
g Washer, & (1) 5/8" Washer — © o
Cable Storage Spool Includes (1) Cable Storage Spool, (1) Lattice Tower ] g
8003503LTC1 | with Lattice Tower Clamp, (1) 5/8"-11 x 8" Bolt (1) 5/8"-11 Nut, (1) 5/8" - 2
Clamp Lock Washer, & (1) 5/8" Washer — © = 3
)
. Includes (2) Cable Storage Spools, (1) Short Crossarm,
800011408 fv'lrt‘ﬁlg Sor:fgt Crossarm | (5)5/8"-11 x 6" Bolts, (2) 5/8"-11 Nuts, (2) 5/8" Lock
P Washers, & (2) 5/8" Washers
Single Lona Crossarm Includes (2) Cable Storage Spools, (1) Long Crossarm,
8003493 witg S oolg (2)5/8"-11 x 6" Bolts, (2) 5/16"-18 x 1" Bolts, (2) 5/8"-11
P Nuts, (2) 5/8" Lock Washers, & (2) 5/8" Washers
Dual Long Crossarms Includes (4) Cable Storage Spools, (2) Long Crossarm,
8003569 with S ogls (4)5/8"-11 x 6" Bolts, (4) 5/16"-18 x 1" Bolts, (4) 5/8"-11
P Nuts, (4) 5/8" Lock Washers, & (4) 5/8" Washers

System Configurations

Dual Arm for Bolted,
Banded, or COYOTE"®
Defender Applications

N

Single Arm and Single
Spool for Bolted
Applications

Single Arm and Single
Spool for Banded
Applications

-

Single Arm for Bolted or
Banded Applications

Single Spools for Lattice
Tower Applications

Qty | Catalog Number | Qty | Catalog Number | Qty | Catalog Number | Qty | Catalog Number | Qty | Catalog Number
1 8003493 1 8003493
1 8003493 or 1 8003569 3 8003503LTC1
800011408 1 8003503 1 8003493B1

NOTE: 5/8" through bolts, 5/8" double-arming bolts, banding, and the COYOTE® Defender are not supplied. 5/8" through bolts and
double-arming bolts are typically used to mount crossarms and spools to wood poles.

CO-CA-1024-3

PLP.COM 61



